¥ LN - Mv MJ
_ Taiwan SMEs Innovation Award -

/ / SAFEWAY

JAW DIMENSIONS

OsRYE
MJ-060 (060A+060B) Stationary jaw / EE & Movable jaw / ;EEI&
MJ-072 (O72A+O7ZB) MJ-060A / 072A / 100A MJ-060B / 072B / 100B

ORDER NO. | 42206000 | 42207200 | 42210000

MJ-100 (100A+100B)
Hardened HRC55° / #5238 HRC55°

A MODEL | MJ-060 | MJ-072 | MJ-100

E M

A
—2 4| M ey A 60 72 100
-' £ ’ <4 L P Y SE c 18 18 18
D 47 56 76
One pa|r (Stational+Movable jaw) ;l Dj E[ I; Eﬂ §[ E 24 26 36
—#828 (BEEO2+:E80%) M M6X25L | M6x25L | M6 X 30L
MJ-06002 (06002A+06002B Stationary jaw / EEO® Movable jaw / ;BN &
MJ-07202 E07202 At 07202,3; MJ-06002A / 07202A/ 10002A  MJ-06002B / 072028 / 100028 OF;AD(')EEF;E':O- :42,1282883 ;\‘ifgggg :A%Z}gggg
MJ-10002 (10002A-+100028) 5 A 60 72 100
Hardened HRC55° / #4iZ¥2 HRC55° D M E M B 22 22 23
- f B i b C 18 18 18
; e — — & D a7 56 76
,g.'/ / / i—ﬁ 3 - .2 E 2 26 36
- F 15 15 15
One pair (Stational+Movable jaw) | ‘ Efr‘ _*‘ Ol ’_zj E G 5 5 5
—#2R (BEO&+EHNOL) = = — M M6X25L | M6X 251 | M6X30L
MJ-06004 (06004A+06004B Stationary jaw / Bl & Movable jaw / FEE)
MJ-07204 507204 At 0720453 MJ-06004A / 07204A / 10004A MJ-06004B / 072048 / 100048 ORDC')ER NO. | 42206004 | 42207204 | 42210004
MJ-10004 (10004A-+10004B) A M ADEL MJ-23004 MJ-%204 MJ-11000004
Hardened HRC55° / #3238 HRC55° D M B 72 22 23
/ - By y/ o @ @‘ F D 47 56 76
ﬁ / , 0// / [ E 24 26 36
, F 4 4 4
One pair (Stational +Movable jaw) - — G 4 4 4
—f2R (BEA£+E80%) M M6X 25L | M6X25L | M6X30L

T + ) ) = oW/
MJ-06006 (06006A+06006B) Stationary jaw / ElE 4 Movable jaw / ;EE & ORDER NO. | 42206006 | 42207206 | 42210006

- MJ-06006A / 07206A / 10006A MJ- B /07206B / 10006B
MJ-07206 (07206A+07206B) J-06006B / 072068 / 10006 DER 110. | 32200000 | 42207206 | 42210008

MJ-10006 (10006A+10006B)

Hardened HRC55° / #3238 HRC55° ﬁ " ki Q gg ;5 1203?
= - . c 135 135 18
o——¢ -
3 €
J b L i—c% F 0 S F E 24 26 36
F 8 8 8]
One pair (Stational+Movable jaw) | ‘ E] —Tof | | @ of G 3 3 3
—if2R (AEOS +EBOS) — — M M6X 25 | M6X 25L | M6X 30L
MJ-06008 (060068+06008B) Stationary jaw / Bl % Movable jaw / ;EEIO&
MJ-07208 (07208A+07208B) MJ-06008A / 07208A / 10008A MJ-060085 / 072088 / 100065 |

MJ-10005 (10008A+100025, MODEL | MJ-06008 | MJ-07208 | MJ-10008

Soft jaw (Without grind & Hardened) g M A M
MBS (THIE - TEERE)  —— |_L.| A 60 72 100

)

I8Py gy T2 E5e . el

C
D 47 56 76
One pair (Stational+Movable jaw) E |1:| E[ E Eﬂ §]: E 24 26 36
—#H2R (AEO&+EE0S) M M6X25L | M6x25L | M6X30L
J N J2
JAW OPEN I NG CAPACITY / YES fﬁﬁﬁﬁﬁ I:l % MJ-060 | MJ-06002 | MJ-06004 | MJ-06006
MV-6072C 0-25 0-50 0-33 0-31
MV-60100C 0-52 0-78 0-60 0-58
J2 MJ-072 | MJ-07202 | MJ-07204 | MJ-07206
MV-7272C 0-25 0-50 0-33 0-31
MV-7272P 0-25 0-50 0-33 0-31
® o MV-72100P 0-52 0-78 0-60 0-58
MV-72100C 0-52 0-78 0-60 0-58
MJ-100 | MJ-10002 | MJ-10004 | MJ-10006
MV-100100C 0-50 0-75 0-58 0-56
MV-100100P 0-50 0-75 0-58 0-56
= #Pff 44 / Standard Accessories Y¥55RMI4 Optional Accessories
Vise locked block / B3 Guide key / IE{ | Handle / #£F (6mm) | Stopper / {Z.E48 Bolts / #%42 (M16 X 80L)

Model : ST-05 (M5 X 6L) T-Nut / TEIHZNE
(M16X3-7F)

A d 44

s,
P
®

Qty : 2-8 pcs Q'ty : 3~7 pcs

Model : VL-16 (M16 X 50L) 18 mm (M6X10L) | Model : HA-06

ffddg 3 3

‘70 @@~
.. 0 “ Q'ty : 2 pcs Q'ty:1pc=‘

‘am .
L)

Q'ty : 4 sets




W sareway

COMPONENTS
=W

BEBR N ZRFHN TR
- Taiwan SMEs Innovation Award

MV-CK/PK

YES VISE MAIN BODY / i 5N R A&

D

@_._,@_Y@_.

_@___@’___

I

|
50l 100

j‘_1oo i 100 _L

|
100 Lso

A

1]
¢ |

Unit: mm

Order NO.
HE:-10

Model
B 57

D

N.W.
FE

42072300

MV-072X300

300

72

65

M16X80L X3

10.6kg

42072400

MV-072X400

400

72

65

M16X80L X4

14.2kg

42072500

MV-072X500

500

72

65

M16X80L X5

17.8kg

42072600

MV-072X 600

600

72

65

M16X80L X6

21.2kg

42072700

MV-072X700

700

72

65

M16X80L X7

24.8kg

YES VISE / [E$H;8E Order NO / ETRE#RSE 42072000 Model / BY5E: MV-6072CS

i

© () ©

@

@ @

60

l

&
&'
ps

® o

N g

o SAFEY,,

@

O 9.9 V9. 999 |
O]
R

R
S
Patede!

0%
&
oS

R
£
&

XA
5

3R
9300
2

X

b

R IRK
X8
RRKS

TR
KKK
ottt

9
ba

3RS
RS

X
<

<
XX

&
9

126.5




//

SAFEWAY

ISO-9001

COMPONENTS
=

MV-CK/PK

YES VISE MAIN BODY / ii 5B A S

L

Unit: mm

Order NO.
Bt

Model
a5

N.W.

c L EE

42100300

MV-100x300

300

100

M16x80Lx3 | 15.2kg

42100400

MV-100x400

400

100

M16x80Lx4

20.2kg

42100500

MV-100x500

500

100

M16x80Lx5

25.4kg

42100600

MV-100x600

600

100

M16x80L*6

30.2kg

42100700

MV-100x700

700

100

M16x80Lx7

34.8kg

YES VISE / [E#H;8EE Order NO / ETHE#RSE : 42100000 Model / BU5E: MV-60100CS

] i
[ ° e \ @O ©
100 | & @ &

YES VISE / [E$H;EEE Order NO / ETHE#RS% : 42100002 Model / B5E: MV-72100CS

/h‘ - ® o
- gy I 2[ |
v 100 |
' 131.5

.

® @ @
72
YES VISE / [E$H;EEE Order NO / ETRE#RSE : 42100004 Model / BIZE: MV-100100CS
G’ —‘_1 B
d o
- 1] Roe¢
-0 2 - ®@ T @
& & &
v 100
1315 ) 100
YES VISE / [E$H;EEE Order NO / ETRE#RSE : 42100006 Model / B5E: MV-100100PS
o
K]
e e
— [ &) @
[X X
3 ® T ®©
000
XXA
& & &
100 |
: 100
126.5




	136-121
	136-119
	136-120

